Hfgas: 4% 58 38uE (&) ANEH =2 57
EHOFME . FAY THR EMAE 1H4A (B 97TA - &fE: 17TA)
HDCP_EIR : A998 : =L
Bla—iL: & 0ODEEE @A 0000 & OO /2
FURALHE : @ EEVID - 3N (UM EWIE) ENRS : $%0 54 8A11E (&)
ShE4A s i) = GROSS HDCP NET HE
- BAT BE 37 37 2.4 34.6
sl e 43 43 8. 4 34.6
73 Y REE % 37 37 2.4 34,6
4 LRI S 42 49 7.2 34.8
&5 Pk ml B 4] 41 6.0 35.0
0L} I3 BE=HR 41 41 6.0 35.0
ST i [EeH A 35 35 0.0 35.0
B VER BT 46 46 10.8 35. 2
9 fri = W 40 40 4,8 35.2
10 fir Feg f— 40 40 4.8 35. 2
Vo Fek NEE 45 45 9.6 35. 4
12 | =8 & 39 39 3.6 35. 4
13 fir | 5575 Rl 39 39 3.6 35. 4
14 i |=F &N 38 38 2.4 35. 6
{15 {%j Ak #BE 44 44 8.4 35.6
18 7 | Bk 18 44 44 8.4 35.6
17 {7 j & JEA 37 37 1.2 35, 8
18 fif | #h 88 1T 43 43 7.2 35, 8
19 {ir | ¥R FE-F- 37 37 1.2 35.8
(20 A% BHE 37 37 1.2 35.8
21 fir | /K B8 37 37 1.2 35. 8
FE Bt 36 ' 36 0.0 36. 0
wE EHz 42 49 6.0 36. 0
| BEE i 48 48 12.0 36.0
EiE #El 48 48 12,0 36. 0
N B 41 41 4.8 36. 2
FE 2% 41 41 4.8 36. 2
=k &5 47 47 10. 8 36. 2
29 fir | HEA JER| 41 41 4.8 36. 2
fn | E5 B 53 53 16. 8 36,2
s — Bk 40 40 3.6 36. 4
(r | [ ZEA 46 46 9.6 36.4
Al Ekl RS 46 46 9.6 36. 4
B 40 40 3.6 36. 4
s s {8 46 46 9.6 36. 4
36 1y | BE 46 46 9.6 36, 4
37 f |3 B E 34 34| 2.4 36.4 {BGY
38 {f | R FEE 46 46 9.6 36.4 |
39 M ER BT 39 39 2.4 36. 6
40D R kT 39 39 2.4 36. 6
41 A7 | KRR BHE 51 51 144 36. 6
7 44 44 7.2 36.8
44 44 7.2 36. 8
44 {173 44 44 7.2 36.8
b firy B 44 44 7.2 36.8
46 17 | BB 3k 44 44 7.2 36, 8
47 4F | bk & 43 43 6.0 37.0
48 fir | 348 Bk 42 42 4.8 37.2
49 {7 | nEE = 42 42 4.8 37.2
L850, | R # 48 48 10. 8 37.2
51 hL | |Bf B 42 42 4.8 37.2
52 fr | A Eig 48 48 10,8 37.2
53 {ir | AfR &Ik 42 42 4,8 37.2
54 fir |EA EE 36 36 ~1.2 37.2
AW 48 48 10. 8 37.2
56 if | &% 4518 41 41 3.6 37.4
57 ik BT 41 41 3.6 37.4
58 i |EEHR £E 47 47 9.6 37.4
59, {f | {HHE =fE 53 53 15. 6 37.4
4 37.6

260 (2| E/NE HEEL 40 40 2.



PAS s ni 2

BiER{ : &% 5F 8H11A (&) NEHY Y —s 57

BEEFE . HRYTHA BN 11440 (B4 97 - & 1TA)
HDCP LR - fToLdmofrE:. #EL
BLb—r: 7 000000 # 000600 & DOGBO® @/ 2
FHELRE © EREVIRD - 5HEAF U EWE ENBL : &% 5% 8A1IE (&)
Mgidy BNEE Ea i} 5] GROSS HOCP NET e
81 {if | &/ =& 45 46 8. 4 37.6
62 {ridbh B 52 52 14.4 37.6
61 ff |EA mE 40 40 2.4 37.6
64 fif | IR B H 39 39 1.2 37.8
£B5 | 5H M 39 39 1.2 37. 8
®6 ARt it 39 39 1.2 37.8
67 o | B H —% 45 45 7.2 37. 8
68 i | AAFf ER 39 39 1.2 37.8
69 47 | e mAE 45 45 7.2 37.8
MEAELR 45 45 7.9 37.8
AR ¥ 44 44 6.0 38.0
72 frERR $EE] 44 44 6.0 38. 0
73 AL jfEa R = 38 38 0.0 38,0
74 fif | SR & 44 44 6.0 38.0
J5 | 3EHE B 43 43 4.8 38. 2
76 A [ —E 43 43 4.8 38.2
[GRRIES 49 49 10. 8 38,2
78‘&% R T 43 43 4.8 38, 2
79 iz | B0 BT 49 49 10. 8 38. 2
V80 Pl PNEF BEF 42 492 3.6 38.4
81 {7 | 4BIR I 42 42 3.6 38. 4
82 i | FHEF —2= 48 48 9.6 38. 4
83 {if | b4 FHE 42 42 3.6 38. 4
84 {ir |Foll & 48 48 9.6 38. 4
85 (| &R B 42 42 3.6 38, 4
86\ | (8 il 66 66 27,6 38.4
87 fr | Eid| & 41 41 2.4 38.6
88 f Bk SUA 47 47 8.4 38.6
89 L | EHH = 41 41 2.4 38.6
T80 4l | ke 51 51 12.0 39.0
91 fL | BN H58 45 45 6.0 39.0
92 fif | BE T3 45 45 6.0 39.0
93 {ir |88 HF 39 39 0.0 39.0
94 fir | =8E Yotk 63 63 24. 0 39.0
€95 (7} okt BiE 44 44 4.8 39.2
96 Ti‘f Kig X2 56 56 16.8 39. 2
97 i |58 F5 43 43 3.6 39. 4
98 {if |BFE BE 43 43 3.6 39. 4
G2 (0| ais &E 49 49 9.6 39.4
00T HHE BT 49 49 9.6 39. 4
101 7 | B8 L 2F 49 49 9.6 39. 4
102 fr (BB HF 43 43 3.6 39. 4
103 i |fex K Els 41 41 1.2 39. 8
104 f | =FF 1% 41 41 1.2 39.8
405 (il &0 JR— 52 52 12.0 40.0
106 i | &8 BE 51 51 10. 8 40. 2
107 1 i 5 ik 49 49 8.4 40. 6
108 §ir | ¥l SeE 42 42 1.2 40. 8
o B 45 45 3.6 41.4
gk B 50 50 8.4 41.6
o B | 48 48 6.0 42,0
N v 46 46 3.6 42 4
ey 57 57 14. 4 42. 6
M ErbE Fadh 59 59 15.6 43. 4




